DIMENSIONS

Arcordine 1o TRC ANINS

IEC designation U120B
Diameter of shell (D) 255 mm
Spacing (P) 146 mm
Minimal nominal creepage distance 320 mm
Couplings according to IEC 60120 Size 16A

Approximate net weight 4 kg

ELECTRICAL PERFORMANCES
According 1o 1EC 60383

S —— : Power frequency withstand voliage

.i dry one minute 70 kv

wel one mimite 40 kV
D Lightning impulse withstand voltage 100 kV
. IWithstand puncture voltage 130 kV

A
i MECHANICAL PERFORMANCES
According 1o IEC 60383
Mininem mechanical failing load 120 kN
S I (e ! COMPONENT PARTS

Dielectric shell : : TOUGHENED GLASS

Cap : : HOT DIP GALVANIZED CAST IRON

Pin : : HOT DIP GALVANIZED FORGED STEEL
Cotter key : : STAINLESS STEEL

Cement : ALUMINOUS, hot cured




vy

UHERE WOT SPECIFIED TOLERANCES TO BS 3288 PART.1 UP TO AKD IKCLUOING 3Sme t8.7mm OUER 35mm 125

"u
o

reraarrie

[}

]
‘
PLTE ST

Lot
Pomraree

]

4’
.t p ey,
isssrasssranant

W
smrrear

.
e

LI

-HINIHU BREAKING STRENGTH OF TENSION INSULATORS SET 128 kN

6 |insulators - |- = 128 kN
5 |compression dead end| 1 alun.alloy/qatv.steel |S18GA3LG 95% UTS
4 |long socket-tongue| 1 [galvanized steel |2433 128 kN
3 |arcing horn 2 |galvanized steel [411D33-12
2 |long ball- tongue 1 |galvanized ateel |2383 128 kN
1 [shackle 3 |galvanized steel |2713-886 128 kN
W n.e.s. HOTES

ITen DENOMINATION PATERIAL COoDE




WHERE HOT SPECIFIED TOLERAMCES TO BS 3288 PART.1 UP TD RND IMCLUDLNG 35mm *@.7mm QVER 35ma 125

Wasrssnsss

faol o8

(®lo

femnnine

n' 4ix2 insulators

max, 495

-HINIMUH BREAKING STRENGTH OF TENSION INSULATORS SET 168 kN

18 |insulators - # e 128 kN
9 |shackle _ 1 |ealvanized steel |2713-15-889 168 kN
8 |adiustable extension link] 2 |galvanized steel |B26-171-886 128 kN
/7 |compression dead end| 1 |alun.alloy/galv.stesl |S18GB3LG 95% UTS
6 |spacing yoke 1 |galvanized steel |2966-1 168 kN
S |long socket-clevis| 2 |galvanized steel |[24138-866 1268 kN
4 |arcing horn 4 |galvanized steel |411R176-M2

3 |long ball-tongue 2 |galvanized steel |2389 128 kN
2 |2@'shackle 2 |galvanized steel |27085-886 1268 kN
1 |shackle 2 |galvanized steel |2713-886 128 kN
ITEn DENORINATION Lo MATERTAL CODE n.B.s. HOTES

Liv 1




LIv <

WHERE NOT SPECIFIED TOLERANCES TO B85 3288 PART.1 UP TD AND INCLUDING 3Sme t@.7mm QUER 3Smm 12%

1@@@6

o

.[\. .
-
s
S
-
-
s
.

e L T R R T T
2t
s
o
o
| SO,

vobiohadi,,

Sassnaas

@ RO,

cospant

(o]le

ferananng

&
:'. : i : E !
v i Lo Ir
| 9x2 insulators 11 Esalss 578 |
max., 495 o |
S——
MINIMUM BREAKING STRENGTH OF TENSION INSULATORS SET 168 kN
| 11 |insulators i = 128 kN -
18 |shackle 1 |galvanized steel [2713-15-889 168 kN
S |adjustable extension link| 1 |galvanized steel |826-155 128 kN
8 |adiustable extension link|] 1 |galvanized steel |826-171-866 128 kN i
7 |compression dead end| 1 |alua.alloy/galv.stee]l |S1BGB3LG 95% UTS i
6 ispacing yoke 1 |galvanized steel [2966-1 168 kN
S ilong socket-clevis| 2 |galvanized steel |24138-866 128 kN
4 |arcing horn 4 |galvanized steel [411A176-M2
3 long ball- tongue 2 |galvanized steel [2389 128 kN
2 98" shackle 2 |galvanized steel |2785-886 128 kN |
1 [shackle 2 |galvanized steel [2713-086 128 kN
ITEN OENORINATION W HATERIAL CODE n.8.S. NDTES

angle 30° -45'

45




UHERE HOT SPECIFIED TOLERANCES TO BS 3288 PART.1 UP TO AND IHCLUDING 3Sam t8.7mm OVER I5mm 423

-
5
o

yet

-
k]

b UL
s LA
s,
)
L]

W

= 3§
ol £ =
= - - - —— - B
mﬂrt
Iﬁsl 118 ‘ n'  insulators . | 185!55! 578
-HINIMUM BREAKING STRENGTH OF TENSION INSULATORS SET 128 kN
6 |insulators o s = 128 kN
S |compression dead end| 1 alus.alloy/galv.steel |S18GB3LG 95% UTS
4 |long socket-tongue| 1 |[galvanized steel |2433 128 kN
3 |arcing horn 2 |galvanized steel |411D33-NM2
2 |long ball-tongue 1 |galvanized steasl {2389 128 kN
1 |shackle 3 |galuanized steel |2713-886 128 kN
1TEH DENOMINAT LON L nNATER[AL cooE 1.8.5. HOTES




VHERE KO SPECIFICD TOLERAKCES IN ACCORDAMCE 10 85 3288 PARF.1UP [0 AND [NCLUDING 35 ma 8.5 OUER 35 an #21

COMPRESSION COMPRESSION
) ey S | o e P
0 a

.

gl netsnnmn yoeey =
52! R H SNSRIy e T PP i O S——
8 ety P ';.,,._’L'_;;;;;;;,.s..".l:".'! Juda 5 "

before compression 788

! after compression 745
|
SECTIONS
I SECTIONS
bafaes compression __COMPRESSION hefare compression after compression
0 I
) i ] 23 o == —~ﬁ--—-w--—-—_
| 1TEN 1 | i A
p TEH
I 38.5%° before compression 289 8.58% [ |
after conpression 258 19:85 | 1685

after compression

-HEXAGONAL COMPRESSION DIE FOR ALUMINIUM cat. n® 5861862
-HEXAGONAL COMPRESSION DIE FOR STEEL cat. n* 5911027
-ULTIMATE STRENGTH: 95% OF CONDUCTOR U.T.S.

-ITEM 2 GALUANIZED ACCORDING TO ASTH A 153 - CEI 7-6 - BS 729

[ 2N

2 |compression joinkt 1 |galvanized steel| 561255
1 compression joint 1 |aluminium alloy | SS8G6
1TEN DENORIMAT 10N w HATERTAL COOE HOTES




[ {2

TrEn OENORINATION 0.1y NATERIAL CODE NOTES
1 |shackle 1 |galvanized steel [2713
2 |M16 bolt 1 [galvanized steel |[UTS16XB3
3 |plain washer 1 |galvanized steel [RPM16
4 |M16 hexagonal nut 1 [galuvanized steel |DPM16
S |cotter pin 1 |stainless steel [3442

s 433

18:33

_E;> 4
i

PP

]

Ak

[1

|

SALVI
2713

-—..l—._-—_.___ TP it S
| _—

120kN

342

e

g

116

b5«

L4

/I
C

16'§

-MADE IN DROP FORGED STEEL
-MINIMUM BREAKING STRENGTH 128 kN
-GALUANIZED ACCORDING TO CEI 7-6 ASTH A 153 BS 729




gMIN 12 dMax, 23,

53415

B 18 W 36586 ERIE

9 |hexagonal nut 1 |galvanized steel |DPH18 according to ASTH 4 153
8 |spring washer 1 |stainless steel |[RGM1BINOX

7 |plain washer 1 |stainless steel |RPM1GINOY

6 |bolt 1 |galvanized steel |[UTE18XS8 |according to ASTH A 153
5 |damper weight 1 |galuanized steel |4RFG-1 according to ASTH A 153
4 |damper weight 1 |galvanized steel |4RFG-2 accarding ko ASTH A 153
3 |damper cable 1 |galuanized steel [4RFG-S  |according to UNI7384 C1.A)
2 |cover half clamp 1 |aluminium allay ([4P23

1 |hook half clamp 1 |aluminium alloy |4H23

ITEN DEHOHINATION 0.1 MATERIAL CODE HOTES




ITER DENOMINATION 2.1y NATERIAL CODE HOTES
1 |shackle 1 |galvanized steel {2713-1S

2 |M28 bolt 1 |galvanized steel |UTS28K88

3 |plain washer 1 galvanized steel |[RPM28

4 |M28 hexagonal nut 1 |galvanized stell |DPM2@

S Jcotter pin 1 |stainless steel |3442

4742
2435
—

SALVI
(:::ﬁl

L

128

i

00

25 '3

-MADE IN DROP FORGED STEEL
-MINIMUM BREAKING STRENGTH 248 kN
-GALUANIZED ACCORDING TO CEI 7-6




ITER OENCHINAT [0t a.1y naTERTAL coDE NOTES
1 198° shackle 1 |galvanized steel |2785

2 |M16 bolt 1 |galvanized steel |UTS16X83

3 plain washer 1 |galvanized steel |RPHiB

4 |M16 hexagonal nut 1 [galvanized steel |[DPM1B

S |cotter pin 1 |stainless steel 3442

163 35¢ 1

-MADE IN DROP FORGED STEEL
-MINIMUM BREAKING STRENGTH 128kN
-GALUANIZED ACCORDING TO ASTH A 153 - CEI 7-6 - BS 729

LIV i-6-7-8




I
—t-—t
|

.f
,L

1
‘r-l

%_h___*_‘_‘_.

I

14 1%

T 1-8-7-1

32:%:

185¢ 2

47%1

-MADE IN DROP FORGED STEEL

-HINIHUM BREAKING STRENGTH 128 kN
-PIN BALL IEC PUBL.128 STANDARD SIZE 16
-GALVANIZED ACCORDING TD CEI 7-6




iLiv 1
i

178

4 |M12 hexagonal nut 2 |galvanized steel [DPM12

3 spring washer 2 |galvanized steel |RGM12

2 |[M2 x 45 bolt 2 |galvanized steel |UTE12X45

1 arcing horn 1 |galvanized stesl (4110218

Iren DENOMINAT IO 0.0 nalrERINL CO0E WOTES

-GALUANIZED ACCORDING TO ASTH A 153 - CEl 7-6 - BS 729




1 [ #16
!
3 |
2 ]
MARKINGS *SALUI 411A176" |
N & 4 : RECOMMENDED TORQUE 48Nm
o Q\
- AL
. — qpi=
= = 7
S(ko.5 6
300

-GALUANIZED ACCORDING TO ASTM A 153 - CEI 7-6 - BS 723

¥ [soom 2 foomim st viEr2g LK Y
3 |uie wem 1t jeALva T STEL [CIE 1y
1 oo, w1 ? vz STEL [ 2y
1 [xecies e 1 [cALvmizED STHL ATy Ly
pes | SN AT |0 r WL o0 LS. | o (e




Liv 1-6-7-8

B2

R RECOHHENDED TORQUE 4BHNm

58
7 1434

=] @
NJ ﬂﬂRi:H ALUI 411033

-GALUANIZED ACCORDING TO ASTM A 153 - CEI 7-6 - BS 729

s
-
308t s
@
i
™~
2 |Mi2 x 45 complete bolt 2 |galvanized steel |B2
1 |arcing horn 1 |galvanized steel [411D33
17ER DENONINAT ION oy HATERTAL CO0E NOTES




Liv 21-22

117¢ 1

-MADE IN DROP FORGED STEEL
-MINIMUM BREAKING STRENGTH 128 kN

-GALUARNIZED ACCORDING TO CEI 7-6 - ASTH A
~SOCKET [EC PUBL.126 STANDARD SIZE 16A

153 - BS 729

2 |pin security clip 1 |[stainless steel 3448
1 |socket tongue 1 |galvanized steel 2433
1TEN DENOMINAT 104 a.1v HATERIAL CopE HOTES




LIV 1-3-6-7-18

VHERE HOT SPECIF1ED TOLERAKCES 1M ACCOROANCE 10 85 3288 PART.1 UP 10 AND [HCLUDING ISmm *8.7mm QUER J5em 125

‘?4.3?-{
:f!,
od
e -MADE IN DROP FORGED STEEL
-GALVANIZED ACCORDING TO CEI 7-6
s -MINIMUM BREAKING STRENGTH 12BkN
g L &l -SOCKET IEC PUBL.128 STANDARD SIZE 16R
bt b=
™
6 |cotter pin 1 |stainl.steel 3442
5 |M16 hexagonal nut 1 alvanized steel DPM16
4 |plain washer 1 |galvanized steel |RPM16
3 |Mi6 bolt 1 alvanized steel UTS16X83
2 |split pin security clip| 1 ﬁtainl.steel 3448
1 socket clevis 1 alvanized steel 24138
1TEN DENDAINATION Q.17 MATERTAL CODE HOTES




recommended torque S8Nm

260+¢,°

Mi2

19015

~NININUM BREAKING STRENGTH

128 kN

-SLIPPING STRENGTH 25% OF NOMINAL BREAKING LOAD DF CONDUCTOR

-ALL FERROUS PART GALVANIZED

ACCORDING TO ASTM A 153 - CEl 7-6 - BS 729

>

8 |suspension body 1 galvanized steel 1245A3 i
7 |suspension eye 2 galvanized steel 1253A7

6 |hexagonal nut 4 galvanized steel DPM12

S |spring washer 4 galvanized steel RGH12

4 |plain washer 4 galvanized steel RPM12

3 |U-bolk 2 galvanized steel 35347

2 |keeper 1 aluminium alloy 1248RA2

1 |clamp body | aluminium alloy 1248A1

17EN DENOHINAT 10 n PATERTAL CooE HOTES

FOR _COUNTERVEIGHT ASSEHMBLY




dv 1

recommended torque S8Nm

8 |suspension body 1 | galvanized steel 1245A3
7 |suspension eye 2 galvanized steel 1253A8
6 |hexagonal nut 4 galvanized steel DPH1i2
S |spring washer 4 galvanized steel RGM12
4 |plain washer 4 galvanized steel RPM12
3 |U-bolt 2 galvanized steel 35347
2 |keeper 1 aluminium alloy 1248A2
1 |clamp body 1 aluminium alloy 124BA1
ITEN DENDATHATION L3 FATERTIAL COooE

-HINIHUM BREAKING STRENGTH
-SLIPPING STRENGTH 25% OF HOHINAL BREAKING LOAD OF CONDUCTOR
-ALL FERROUS PART GALUANIZED

ACCORDING TO ASTHM A 153 -

128 kN

CE[l 7-6 - BS 729




T

88'12s

7S"LE8

1860

135 J43d spoy g

AOT1e wnIutwnie ul apeuw

030N3 JI1¥3HdS

A7 UWGE ¥3ND ww/'9: WWSE INIONTINI ONY DL dN L' 1bvd BBZE §8 01 S3IINYIN0L 0314123dS 10N 3¥3HN




VHERE HOT SPECIFIED TLERAKCES IN ACCORDAMCE 70 BS 3288 PART.1 UP 10 AND INCLUDIHG 35 ma t8.7sn OVER 35 sa 2%

e after compression 578
before compression 548
OIQII
view from "A" 21 "'
$ COMPRESS IDN COMPRESS[ON
B—mﬁ 3-_;._2".‘_"—"3)
e T et e e T AT SRR AP t_-_-_::
R E :
rgy L -..-....‘-..-.\ssx-,.-h-anr:::], ng e e 5
i !
i SECTIONS !
: before compression
| |
8.59:5 ¥ 2385
= [1Ten 1 | [17en 2] Lo
19%3°] | = REEES
I steel aluminium
;El-ETTEmINSl\; Cﬁ;. s after compression
15 /90"

16 :§*

-HEXHGONHL COMPRESSION DIE FOR ALUMINIUM cat. n® S98MB62
-HEXAGONAL COMPRESSION DIE FOR STEEL cat. n* 591n@27
-ULTIMATE STRENGTH: 95% OF CONDUCTOR U.T.S.

ITEM 1-4 galvanized according to ASTM A 153 - CEL 7-6 - BS 729

L1678

4 |M12 complete bolt 2 {qalvanized steel|B2SEF

3 [15° jumper terminal 1 laluminium alloy |528G-3 B
2 |compression dead end 1 laluminium alloy |S168G3 :
1 |compression eye end 1 [galvanized steel|S21GS512

ITEN DENOHINAT ION H* HNATERTAL COCE HOTES

W




- SEZ.A-A

2614

6611

-MADE IN DROP FORGED STEEL
-MININUM BREAKING STRENGTH 128kN

~GALUANIZED ACCORDING TO ASTHM A 153 -

CEl 7-6 - BS 729

8.7
8.9

2284




ITEM 2 ITEM 1 |LENGTH| STEP

1 7 3ez,s

12.5
] 9 328

12,5
3 8 332.,5

12.5
2 7 345

12,5
5 9 357..5

12.5
4 8 370

12.5
3 -7 382,5

12.5
6 9 395

12.5
5 8 407,5

12.5
4 7 428

25
6 8 445

12,5
5 7 457.5

37.5
6 - 7 495

VHERE HOT SPECIFIEO TOLERAKCES IN ACCOROAMCE 10 BS5 3298 PARI.1 UP 10 AHD [HCLUDING 35 sa *9.7nm DUER 35 ga ¢25

S
=
é f f SALUI 826-171
| |
- R ©
o~ [ N
i !
M16 ‘

Min.387.5 Max.495

(6063636

-ITEM 1,2,3.4,5 HOT DIP GALUANIZED ACCORDING TO
ASTM A 153 - CEI 7-6 - BS 729

-MINIMUM BREAKING STRENGTH 168 kN

6 |cotter pin 2 |stainless steel |3442

S5 |M16 hexagonal nut 2 |galvanized steel |DPM16

4 |plain washer 2 |galvanized steel |RPr16

3 |Ni6 % 7?5 bolt 2 |galvanized steel |UTS16X75

2 |extension link 2 (galvanized steel |B26-171-2

1 |extension link 1 |galvanized steel |826-171-3
1TEN DENOH INATIOH N FATERTAL CO0E NOTES




ITEN 2 ITEM 1 | LENGTH| STEP
e
1 = 2 489,5 o
@
12:7 7 8 E ;
¢ -9 sz Sl A ST . . W L ‘
12.7 m !
3 - 8 514,9
. 12,7
2 = £ 527.6
12,7
5 - 9 540,3
12,7 . @l S ——t e
4 - 8 |s53 L i '!'i.:=l|:;!' RN - 1
12.7 PN 1 ; i i : E i
3 = 2 565.7 [ c B BRI R R
12,7 B EiR ’ ' =3
6 - 9 578.4 L@J S
12.7 l
5 -8 591.1 (:)
12.7 116
4 - 7 |603.8 Min.483,5 Max.680
25,4
6 - 8 629,2 5 3 2 3 5
12,7
5 - 7 |641.9 T “@"@_@_"@'_@
38.1 .
B - 7 680
-GALUANIZED ACCORDING TO ASTM A 153 - CEI 7-6 - BS 729
“MINIMUM BREAKING STRENGTH 120kN
6 |[cotter pin 2 |stainless steel [3442
S |M16 hexagonal nut 2 |galvanized steel|0l3r115
4 |plain washer 2 |galvanized steel|RPM16
3 |M6 x 75 bolt 2 |galvanized steellUTS16%75
2 |extension link 2 |galuanized steell026-137-2
1 |extension link 1 |galvanized steell026-155-1
ITEn DENDHINAT 10N W MATERIAL cooe HOTES



CI0 T

ITEN DENOMINATLON 0.1 HATERIAL CODE - NOTES
1 |shackle 1 |galvanized steel |2713
2 |M16 bolt 1 |galvanized steel |UTS16X83
3 |plain washer 1 |galvanized steel |RPM16
4 |M16 hexagonal nut 1 |galvanized steel |DPMiB
S |cokter pin 1 |stainless steel |3442

243 433

., 1883

A

PP

G__

i

-

|

128kN

SALVI
2713

34#

M16

652

—

e

AJ/// 4

e

163

-MADE IN DROP FORGED STEEL
-MINIMUM BREAKING STRENGTH 128 kN
-GALVANIZED ACCORDING TO CEI 7-6 ASTH A 153 BS 723




COMPRESSION
I L}

A

before comression 220

after compression 245

=
NN

2488

38.59°

-MADE IN ALUMINIUM ALLOY
-HEXAGONAL COMPRESSION DIE cat. n* 598MB62

VHERE K01 SPECIFIED TOLERAMCES IN ACCORDASCE TO 85 3268 PART.1 UP TO ANO IKCLUDING 35 nm 8.7za ODUER 15 ma !lﬂ

Lo

33.5




Wi

gMIN 23 #Max

|
|

recommended torque 48Nm

—_—

4164

WAl

|
s

.ITEﬂ 4-5-6-9 GALUANIZED ACCORDING TO ASTM A 153 CEI 7-6 BS 729

9 |hexagonal nut 1 |galvanized steel |DPM12

8 |spring washer 1 [stainless steel |RGM12INOX

7 |plain washer 1 |stainless steel |RPM12NX

6 |bolt 1 |galvanized steel |UTE12X68

5 |damper weight 1 |galvanized steel |4RFG-1

4 |damper weight 1 |galvanized steel |4RFG-2

3 |damper cable 1 ([galvanized steel |4RFG-8 according to UNI7384 C1.A
2 |cover half clamp 1 |aluminium alloy [4P32

1 |hook half clamp 1 [aluminium alloy |4M32
ITEN DENOHINATION a7 HATERTAL CO0E NOTES

8 18 20 38 40 55 b8 78 ©9 50 166

mnnnnnnnnn




16 34

+2

1

78

////fFSQLUI

16 33

N 2123 168N

-MADE IN DROP FORGED STEEL
-MINIMUM BREAKING STRENGTH 168kN
-HOT DIP GALUANIZED ACCORDING TO CEI 7-6 - ASTM A 153 - BS 729




TI0 1

VHERE HOT SPECIFIED TOLERANCES IN ACCORDANCE TO BS 3288 PART.1 UP T0 AHO THCLUDING 35nm :6.7we OVER 3ima 123

|, 150+ 2 |
| |
| I
. i SALVI 26161-150 160 kN .
& s . .
|
1892 18132
|
] .
= e e
& Pl Ll
l

199 33

-MADE IN ROLLED PLATE STEEL
-MINIMUM BREAKING STRENGTH 168 kN
-GALUANIZED ACCORDING TO ASTHM A 153 - CEI 7-6 - BS 729




